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0 ~ 5 |/KE&EXD5BH + 1,680 0 ~ 10 6281
6 ~ 10 |/KEX103M + 1,440 11 ~ 30 | KEX 84H — 212H
11 ~ 15 |/KREX1441 + 1,030 31 ~ 50 [/K&EXI100H — 692H
16 ~ 25 |AKREX17T3M + 595H 51 ~ 100 [/K&EX136H — 2,492H
26 ~ 35 |[/K&EX215H — 455 101 ~ 300 [/K&EX162H — 5,092H
36 ~ 50 |[/K&EX250H — 1,680 301 ~ 1,000 [/AK&X197H —  15,592H
51 ~ 100 [/K&EX278H — 3,080 1,001 ~ 8,000 | KEX207H — 25,5921
101 ~ 300 [/K&E X303 — 5,580 8,00104 k KEX216H —  97,592H
30120 |k KEX322H —  11,280H
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HEHAKEN7 m® | DL
AKiERHE Tm® X 103M + 1, 440 =2, 161 M
K IEfE R = 628 M
&EF 2,161 + 628 =2,789 M
K ENT33 m® | DA
AKiERHE  33m* X 215 — 455 =6, 640 M
TAEMFEAE 33m* X 100 — 6921 = 2, 608 [
EEF 6, 6401 + 2, 608 = 9, 248 M
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Fte: 5,000 M | HEBR 8 %DHA

5,000 X 8 <+ 108 = 370.370370 ---

TR Z 80 TT AR

370 M




